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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 I I I |
3500 + EcFZEXp : DOOOOOOOOOOOOOCOOOOOOOOOOOOOOOOOOOOOOOOUOOOOOOOOOOOOOOOOOOOOOOOOCOOOOOOOOOOOOOOOOOOOOOOOOO OO0
3000 { ¢ FECdef !
—>— water_ec | 4‘
2500 i LAl Lt LA A L S L L LA L L L Lt L i Lt L i Lt i i i it i
2000 !
1
1
1500 |
mooo?x !
1
1000 I
1
500 Warning: col [ EcFgro’, 'EcPltng/ ] is missing

0 25 50 75 100 125 150 175



Plot [’ ECopt’]

3500 7 —@— ECopt

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [["I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, ’'optETcl’],

"LAI",

" optEtRate’ ]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-13
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00 - 1 i
38.25 28, 38.75
75 B T T T T T T T T T T
590 595 600 635 640 645 680 685 715 720
m=745,m FV0=0 m=780,m FV0=0 m=820,m FV0=0 m=855,m FV0=0
004~ 40.25 1 —@— 40. 50 1
i 40. 25 -
40. 00 40.0
75 -
40. 00 -
39. 75
50 - 39.5 39. 75
39. 50 -
25 39. 50
39. 25 -
00 - 39.0 + 39. 95 -
39. 00 -
75 T T T T T T T T 39.00 7 T T
745 750 755 780 785 790 825 830 860 865
m=890,m FV0=0 m=930,m FV0=0 m=980,m FV0=0 m
75 -
—o— —o—
501 40.5 - 40.5 -
25 -
00 40.0 - 40.0 -
75 -
39.5 - 39.5 -
50 -
48 -
890 895 900 930 935 940 985 990 600 800




51.

51.

50.

50.

49.

49.

54.

53.

53.

52.

52.

54.

53.

53.

55.

54.

54.

53.

m=450, FV0=0 m=495, FV0=0
—— MW 51.75 - —— MW
5 -
51. 50 -
0 -
51. 25 4
5 -
51. 00 -
01 50. 75 -
5 50. 50 -
0 - T T T 50. 25 - T T T
450 455 460 495 500 505
m=635,m FV0=0 m=675,m FV0=0
0 —-— MW 54.0 A —-o— MW
S 53.5
0 -
53.0 -
5 -
52.5 -
0 -
635 640 645 675 680 685
m=780,m FV0=0 m=820,m FV0=0
54.5
—o— MW —— MW
0 - 54.0 -
53.5 -
5 -
53.0 -
0 -
52.5
780 785 790 820 825 830
m=930,m FV0=0 m=980,m FV0=0
—o— MW —— M
0 - 55. 0 -
5 - 54.5 -
0 - 54.0 -
5 - 53.5 -

930 935 940

980 985 990

m=535, FV0=0

49. 25 ~

49. 00 ~

48. 75 A

48. 50

48. 25 ~

48. 00 ~

54.

53.

53.

52.

54.

54.

53.

53.

—o—

MW

535

5&0 5&5
m=710,n FV0=0

—0— MW
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7%5 7é0
m=855,n FV0=0

—0— MW
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53.

52.

55.

54.
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m=590, FV0=0

—0—
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595 600
m=745,n FV0=0

—— MW
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7%0 7%5
m=890,n FV0=0
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895 900
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P3-13

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:25 283 150.0 (2 =| 1Ri%e07:25 Bz (kAFERSE)
08:05 283 150.0 RS {Ri%e08:05 Bz (REERESE)
09:00 283 150.0 (Z=| 1Ri%@09:00 Bzh (KABERE)
09:40 283 150.0 (2 =| 1Ri%@09:40 Bz (kBFERSE)
10:20 283 150.0 (& =| 1Ri%e10:20 Bz (GkBERESE)
11:00 283 150.0 | =| {Ri&e11:00 Bz (KRBEEE)
11:40 283 150.0 (2 =| 1BRi%e11:40 Bz (kAFERSE)
12:30 283 150.0 (=] 1Ri%e12:30 Bzh (kBFERSE)
13:10 283 150.0 FA| {Ri&e@13:10 Bzl (GkAEEEE)
13:50 283 150.0 FH| 1Ri%@13:50 B3h (KRAERRSE)
14:35 283 150.0 FA| 1BRi&014:35 B3 (GRAEREE)
15:15 283 150.0 |Z=| 1{Ri&e15:15 Bzl (GRPBEEE)
16:00 283 150.0 (Z=| 1Ri%@16:00 Bz (KREAEESE)
16:55 283 150.0 (2 =| 1Ri%e16:55 Bz (kAFERSE)
213t 3962.0 (14)%) 2100.0 32 UHIKEC: 2080.0, PH: 5.6

MERRNER S 5STREAERE (184.0 : 136.0), AJEEHF—RZ X445
LEOREBIRTC (283) 571H (312. 0) A, FEEH T X BRERS EXIER
ZRIASEPRIERE136.0 ml.

REXEEBIEC (2407.0) 5% FEEC (2000.0) REKR KA, BFHE

[E;%EC 5400.0 K5, ZEiLFAIKECAE & ihEE R

HEEIHECE (2407.0 vs 5400.0) i35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=57 (2025-05-27)

150 A

100 A

50

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2576

2057 1900 9 #16
1500 465
18 Warning: lcol [FVI',| "FVO’'] missing 0 .

- 3000

- 2000

- 1000

FRV (ml d-1)

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing
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4 e e
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- 3000
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- 2000
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m=460, FV0=0 m=495, FV0=0 m=545, FV0=0

—— ME 38.0 1 _o— M_E —8— ME
36.5 - 37 8 - 38. 4 1
37.6 - 38.2 1
36.0 -
37. 4 -
38.0 -
35.5 - 37.2
37.8 1
37.0 -
35.0 -
36. 8 - 37.6 1
T T T T T T T T T T T T
600 800 1000 460 465 470 495 500 505 545 550 555
m=595,m FV0=0 m=645,m FV0=0 m=695,m FV0=0 m=735,m FV0=0
—e— ME 39.00 1 —o— ME —e— ME —o— ME
38. 75 - 38. 75 -
38. 75 A 39.0
38. 50 - 38, 50 - 38. 50 -
38. 25 - 38. 25 - 38. 25 - 38.5 -
38. 00 - 38. 00 - 38. 00 -
37.75 38.0 1
37.75 1 37.75 1
37. 50 -
T T T T T T T T T T T T
595 600 605 645 650 655 695 700 705 735 740 745
m=770,m FV0=0 m=800,m FV0=0 m=835,m FV0=0 m=875,m FV0=0
40. 0 -
2950 —®— ME 29§ - —-o— ME - ME —e— ME
39. 8 40.0 1
39. 25 - 39. 6 -
39. 6 -
39. 4
39. 00 39. 4 - 39.5 -
39. 2 1
38. 75 - 39.2 4
39.0 1
38. 50 - 39.0 39.0 1
38. 8 -
38. 25 - T T T T T T 38.8 1 T T T T T T
770 775 780 800 805 810 835 840 845 875 880 885
m=920,m FV0=0 m=965,m FV0=0 m=1020m FVO0=0 m
55
—o— ME 40.25 4 —@— M_E —o— ME —— MW
40. 0 - 40. 25 54
40. 00 -
40. 00 - 53 1
20.5 - 39. 75 o |
39. 75
39. 50 51 -
39. 50
39.0 - 39. 25 1 50
3900 4 39. 25 49
920 925 930 965 970 975 1020 1025 1030 600 800 1000
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P3-13

BriE) [ EBIETK (D) | EHE (EH/HK) | XK ERE

07:35 288 150.0 A5 {Ri%@07:35 Bz (REERER)
08:25 288 150.0 B 1Rige08:25 Bzh (REEEE)
09:15 288 150.0 RS {BRi&e09:15 Bah (REEREE)
10:05 288 150.0 | =| 1Ri&e10:05 Bz (KBEEE)
10:55 288 150.0 |Z=| 1Ri&@10:55 Bz (REB{EEE)
11:40 288 150.0 S| Rige11:40 Bz (REAERE)
12:25 288 150.0 S| Rige12:25 Bz (REAERESR)
13:10 288 150.0 Bl Rige13:10 Bal (REAEHE)
13:55 288 150.0 BE| Rige13:55 BHal (REAEHE)
14:40 288 150.0 e Rige14:40 Bz (REAERSE)
15:30 288 150.0 el Rige15:30 Ba) (REAERESE)
23+ 3168.0 (11)%) 1650. 0 32 FE&KEC: 2080.0, PH: 5.6

MEBEHERE STAAEARS (187.0 : 138.0), AIREHTF—@E XAHA4
ZRIAEBRERLE138.0 ml.
FHEKECE (2370.0 vs 5150.0) 5



P3-13_0, Day=56 (2025-05-26)

150 m———e e ———
VI, VB8RV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2057
1500 5 §83
50 - - 1000
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94 Warning: lcol ['FVI’, VO'] missing "
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0.2 A
Warning: lcol ["WC1',  "WC2'] missing
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0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
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0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
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0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
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m=445, FV0=0 m=495, FV0=0 m=540, FV0=0

3.0 o wE — NE 38.2
37.8
36. 5 38.0 -
37.6
36.01 37.4 37.8 -
35.5 37.2 -
37.6
35.0 37.0
37. 4 - — ME
T T T T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550
m=595,m FV0=0 m=650,m FV0=0 m=705,m FV0=0 m=745,m FV0=0
38. 75 - 39. 00 -
3844 @ ME —&— ME —o— ME ' - ME
: _ 38.5
38.50 38. 75 -
38.2
38. 25 -
38. 50 -
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38. 00 -
27 g - 38. 25 -
37.75 -
37.6 37.5 1 38. 00
37.50 -
37. 4 - 37.75
37.25 - 3704
T T T T T T T T T T T T
595 600 605 650 655 660 705 710 715 745 750 755
m=785,m FV0=0 m=830,m FV0=0 m=880,m FV0=0 m=950,m FV0=0
39. 25 -
- ME - ME - ME - ME
39. 25 39. 4 394
39. 00 -
39. 00 - 39. 2 1 39. 2 1
38. 75 -
38. 75 39.0 1 39.0 -
38. 50 -
i 38.8 -
38.50 28.8
38. 25 38. 25 - 38. 6
38.6
38. 00 38. 00 - 38. 4
38. 4
785 790 795 830 835 840 880 885 890 950 955 960
m m=445 m FV0=0 m=495,m FV0=0 m=540,m FV0=0
51.0 4 —@— MW 52.0 7 —— MW —— MW
50. 5
50. 5 51.5 -
50. 0
50. 0 51.0
A 49.5 -
9.5 1 50. 5 -
T T T 49 0 T T T T T T T T T
600 800 1000 445 450 455 495 500 505 540 545 550
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P3-13

BfiE) | BRI (7)) | EME (EH/HK) | XS EFF

07:15 294 150.0 RS {Ri&e07:15 Bz (REERE)
08:00 294 150.0 A5 {Ri%@08:00 Bz (RFEHEEZE)
08:45 294 150.0 B 1Rige08:45 Bzh (REEESE)
09:30 294 150.0 RE| 1Ri&e09:30 Bzl (RFERS)
10:15 294 150.0 S| Ri%e10:15 Bz (REERESR)
10:55 294 150.0 B 1Rige10:55 Bzh (REEESE)
11:35 294 150.0 S| Rige11:35 Bz (REAERE)
12:25 294 150.0 S| Rige12:25 Bz (REAERESR)
13:10 294 150.0 Bl Rige13:10 Bal (REAEHE)
13:50 294 150.0 S| Rige13:50 BHa (REAEHE)
14:35 294 150.0 BE| Rige14:35 Bz (REAERSE)
15:25 294 150.0 | {Rige15:25 Bzh (REERSE)
16:15 294 150. 0 S| Ri%e16:15 Bz (REERESE)
249t 3822.0 (13%) 1950. 0 3Z i KEC: 2080.0, PH: 5.6

MEREHERE STMAEARS (191.0 : 141.0), AEEETF—@E XAH4
ZRIAEBRIERE141.0 ml.
FHERECE (2323.0 vs 5157.0) 5



P3-13_0, Day=55 (2025-05-25)
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37.8 -

37.6 A

37. 4 -

740 7&5 760
m=905,n FV0=0

39. 00 A

38. 75 A

38. 50 A

38. 25 A

38. 00

37.75 -

905 9%0 9%5
m=450,n FV0=0

52.0 -

51.5 4

51.0 -

50. 5 A

50. 0 -

-o— MW

450 455 460




52.

52.

51.

53.

53.

52.

52.

51.

53.

53.

52.

52.

m=495, FV0=0 m=555, FV0=0
52.5
—— MW —— MW
5 52.0 -
0 51.5
51.0
5 -
50. 5
T T T T T T
495 500 505 555 560 565
m=700,m FV0=0 m=740,m FV0=0
5 —-— MW 53. 5 -0— MW
01 53.0 4
5 -
52.5
0 -
52.0
5 -
51.5
T T T T T T
700 705 710 740 745 750
m=860,m FV0=0 m=905,m FV0=0
—o— MW —— MW
5 53.5
0 - 53.0
5 4 52.5
2_ -
0 52.0
860 865 870 905 910 915

53.

52.

52.

51.

51.

50.

53.

53.

52.

52.

54.

53.

53.

52.

m=610, FV0=0

—— MW

610

T T
615 620

m=780,m FV0=0

—— MW

780

T T
785 790

m=950,m FV0=0

—— MW

950

955 960

53.

53.

52.

52.

51.

53.

53.

52.

52.

53.

53.

52.

52.

m=655, FV0=0
57 —— MW
0 -
5 -
0 -
5 -
655 660 665
m=815,m FV0=0
—— MW
5 -
0 .
5 -
0 -
815 820 825
m=1010m FVO0=0
—— MW
5 -
0 -
5 -
0 -
1010 1015 1020




